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There are 30 questions in all in this Part. All questions are compulsory.
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A mapichart formed by systemizing and relating the Goncepts leamt in a particular
portion of a lesson ,

A) Concepl map % Flow chart
C) Overlapping chart D) Mind map I
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To help the students understand various concepts, the teacher axplaining concepts
should

A)  Start from unknown concepts to known concepts

B) Start from complex concepts to simple concepts

C) Teach al different times similar concepts that lead to confusion
I'D'ntart from abstract concepls to concrete concepts |
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The psychological factor helptul for leaming is

A) Classroom climate
C) Skill

B) Family

|D]| Physical health |
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The satellite used for telecasling educational programme is '-I#

A) Apple B} Aryabhata

C)

Insat — 1 o) Chandrayan
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In the consiructivist pﬁfgﬂmihre, learning is not related to

A) Conngeting new ideas to the existing ideas

B) Constructing own knowledge by connecting new ideas to existing ideas

C) Constructing own knowledge, with more emphasis on new ideas

[3) Conslrucling own knowledge without connecting existing knowledge
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Myelin Sheath is made up of
A)  Proteins only

) Lipids only
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B)

Proteins and lipids |

D)

Carbohydrates and lipids
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Physical growth in children is at the maximum rate at the age of
A} D-2yrs. B) 2-6yrs.
C) 6-12yrs, D) 12-19 yrs.

Adolescence sreiriigeir G Limme
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The word Adolescence maeans

A) To develop B) Tocreate

C) Tothink D) To grow

ClupGmrisanred sent_ Ry 4 Cauemg ui wpeiimy'A'das e

A) Accepl, Affectionate, Appreciate

[8) Accept, Adjust, Appreciate |

C) Accept, Adjust, Analyse

D) Accept, Assist, Appreciate

Three 'A's to be followed by parents

A) Accept, Affectionate, Appreciate

I B) Accept, Adjusl, Appreciate I

C) Accept, Adjust, Analyse

D) Accept, Assist, Appreciate
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Love, envy andpityare _____ categories of emotions. \‘.
A) Primary goal oriented emations ‘
B) Emaotions triggered by sensory simulation

IG] Emotions related to others
D} Emodtions pertaining to selft appraisal
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A leacher asks Emﬁﬁﬁ}':-“wh at might be the questions if answeris '8 ? " ILis
A) Teaching for t:l:rh-s.'.ructi{:-ﬂ of knowledge I

B) Testing arithmetic knowledge

C)} Teaching for application of knowledge

D) Teaching for examination
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‘Man invented aeroplane alter watching birds'. Which of the following is closely related
to the statemant 7

A) Operant conditioning B} Negative transfer of learning |
IG:l Learning to learn D) Meta cognition
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What is the expansion of C.C.E. 7
A) Continuous and Comprehensive Education

|Ei] Continuous and Comprehensive Evaluation |

C) Cognitive and Complex Evaluation
D) Cognitive and Constructivist Education
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One of the techniques fellowed by teachers to test the creativity of students

A) Brain-sterming, -I

B) _ Brain-forming
C) Brain-washing
D} Brain-drain

"EoOuEsh Mpisaudenn @ phengsm e aypiis wellg @l &L e @ erang
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A} 18958, November 20 B} 1359, November 20 I

C) 1958, December 20 D) 1959, December 20

"it is the prime duty of the hurman race to giva the beslt lo children® was propagated by
the UNQ in the year

A) 1958, November 20 IE'_I 1959, November 20 I
C) 1958, December 20 D) 1959, December 20
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The attitude of a male child being affectionate towards the mother than his father is
Known as

A) Complex |E} Cedipus complex

C) Electra complex D) Inferior complax
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The paychologist who had the idea lhat‘meﬁ parform better as they grow older

A) JM.C. Cattell B} Alfred Erinutl

C) Sir Francis ?,gl;hg D) Woodworth

T e dens Lils allen s LIS DS 5 i LireiTehgs Bausg gl
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Teacher should use one of the following to draw the attention of children more guickly

A} Real objects
B) Colourful-objects

C) Colourful pictures

ID} Moving objects I
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The thinking of the scientists is an example for
A} Concrete Thinking B) Abstract Thinking

IC:I Creative Thinking I D) Reflective Thinking

Lo rewrau el b awp & ueTTFR enit rpLI @S5 @#Gsusbum”ani & ClardlEsemt

A saelF Qewsur® B) w@inl' Hablewsun®

C) ol @éGeweumd D)  wi @ enemrd 6L

One of the following should be given to students for Seclal developmant
W

A) Academic activity B)  Ewaluation activity

C) Home activity pe ID]I Co-curricular an::ll'u'it',rl

ot
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The method which provides more opportunity for children to interact with peer groups
and teachers

A} Gurukula Kalvi Method
B Lecture Method
C) Ancient Mathod

D) Activity Based Learning Mathod
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A} Gl euinten alldens I

B) Gangsmf syfldens

C)  Eomsn & apsnrsin syildems
D) yEwsaall Glarsiens syiidens

The report which says “Four types of learning ability may be developed through school
education”

| A)  Tellarce Report
E) Kothari Report
C) Radhakrishnan Report
) New Education Policy Report
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The Law of Effectis also called

A) The Law of Exercise

By The Law of Readiness

C) The Law of Assimilation

D) The Law of Reward and Punishment I
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Opening a door by a child using proper process of unlocking is an example of which
type of learning ?

I.Aj Problem solving I B) Insight learning
C) S-R leaming D) Motor-chain learning
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Which one of the following educational Implications does not fit the 'Operant
Conditioning' 7

A) The teacher can modify the behaviour of the learnarby changing the environmant
B) The teacher can shape a deslred behaviour by reward
C) Theteacher should considerthe ability r:"tﬂ'ﬁ;i students before giving them problems

D) The subject matter should be divided Into small segments
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Asking number of queations and annoying the alders by children shows the

A) Ignorance

IE} Emotion of wonder I

C) Emotion of confualon

D) Emotion of annoyance
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Emotional development during childhood is more susceptible to the influence of
A} Parents B} Family members
C) Friends |D) Teachers |

PP uarTaE et (upd S s L, el

A)  werliuirsraLn B} wersnliA

C) wengllner D)  sreiwesmLis eir

Main role in moral development is
A)  Attitude [B).. Conscience
C) Mental ability D) Feelings

eppeu i ey Gsemaraar, aflp usigar, st TS o  wahenD s apmyS

- Glardinemeh avenaullel Sempap Qs Qaneirgstd BioeninFus gonsE enennbs S, wpeL

(Integrated personality) sy dn et
A)  greir@ed I"E'} nﬂmml C) apiwis D) ami_ewt

Integrated personalily is described as unique adjustment of individual's interests,
expectation and opinions regarding his external world and one's feelings about himself

A) John Dewey B) Ericksan C) Hurlock D) Gardner

#0Bung warelldasvalldile wpaih GEmaser i u Fasr@clioear sapsih
sealdLi gy

A} so¥ssenen B) asmiofgsanen
C)  ydaydiE pe D) pablerapsisn

Al prasent the society expecls that school education may develop
A) Thinking B) Generosity
C) Cognitive ability D) Moral values |
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There are 30 questions in all in this Parl. All questions are compulsory.

61. The mills of God grind slow sure,
A) and B) but C) that D) if

62. The number of syllables In the word 'ecological’ |s
A) Four B) Six C) Three D) Five

Fill in the blanks by choosing the right options given along with each guestion.
83. Supply the sultable question tag.

Plants give out oxygen during the day 7
A) dothey IE} don‘tthey |
C) did they D) ﬂidn‘t thay
54, Supply a suitable suffix for the given word.
Sheap
A) Ity B) ness [c) isn D) ism

85. Fill In the blank with sultable homophone.
The palice controlled tha

A) “right C) write D) rite

66. Supply the sultable relative pronoun.

| stayed with my grandmeother cooking was the best in the world.
A}  What B) Whom C) Who D) Whose

G7. Which of the following sentences given below conveys the following meaning 7
"Sargjinl Naldu was a renowned poetess”

A) Saro|inl Naldu was an Infamous poetess
B8) Sarolinl Naldu was a notorious poatess

C) Sarojinl Naidu was a famous poetess
D) Sarojini Naidu was an lll-famed poetess




68. Find out the animal(s) which make the sound ‘sgueak’.
A) Guinea pigs
B) Hamsters
C) Tapirs
|D) Al of the above animals

69. The troops arrived at the crack of the dawn.
The above sentence means

A) The troops were slow

B) The troops arrived very early in the moming
G} The troops arrived in the evening
D) The troops are defeated

70. Pick out the right spelling from the following.
A)  monolitic

B) monalithic

C)_monolithic |
D) monalithik

71. Which of the following options means "Dart, with heedful mind" ?
A) Move slowly with careful mind

B) Make a sudden move but be very careful

C} Do not be careful in rushing out
D) Make a careless sudden movement

72. Which of the following descriptions exactly defines an open letter 7
A) An envelope which is open
B) Letters of the alphabet which are closed at the top
C) A letter which is not kept sealed

ID} A letter which is addressed to an individual, but can be read by averyunel
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73. Which of the following is the correct definition for a run on ?

g
Al Two sentences put together without a full stop or a connecting word In between
them

B) A sentence with two main clauses

C) A sentence with two linkers
D) A sentence with a finite verb

74. Pick out the plural form of deer.
A) deers
B) dear

D} dears

75. How many syllables are there in the word ‘edification’ ?
A) Five |

BY One

C) Six

D) Sewven

76. Identify the figure of speech employed in the following line.
"“Who lovas the trees best 7" | said the Spring.

A} Simile

B) Personification

C) Metaphor

D) Alliteration I

77. Pick out from the following sentences the exact opposite of “The street was crowded”,

|ﬁ.} The street was deserted
B) The strest was packed

C) The streat was so noisy
D) There are s0 many people moving in the street




/8,

79,

81,

B2,

843,

(@]

Fick out the correct sentence.
A) | herd the noise made by the running heard -
B) | herd a heard racing past in the vally

C) | heard the noige of the fast approaching herd I

D) | herd the pounding noise of the heard

Choaose the correct expansion of the abbreviation ZSI.

A} Zoo Summit International

B) Zion School of Intelligence

C) Zoologlcal Soclety of Ireland .

D) Zoological Survey of India

Choose the correct meaning of the word ‘canner’,
A) A person who is very optimistic

B) A person who preserves things in cuﬂ[‘ﬁ'inars for sale

C) A very rare bird

Which of the following sentences means "My Apologies™ ?
A) .| am glad'to meet you

B) |am very sarry

C) lamfine

D) My sincere thanks to you

rose.

A) a B) the C) an D) this

My favourite Hower Is _

A verb which does not take an object is

A} Intransitive uerbl B} Advarb

C) Transitive verb D) Proverb

[ Turn over



84,

85.

86,

87.

88.

g9.

90,

If | a fish, | would swim.

A) was

C) were I

He received blow _ blow.

A) on
C) in

Be + main verb + ing form is
A} Simple
C) Past

identity the sentence pattern,
Computer keeps children busy.
A) SVIODO

|c} svnc|

B) am
D) have

B) for
D) of

tense.
IE} Continuous

D} Perfect

“B) SVOA
4D) SVCA

Which among the following is not associated with 'Punctyation’ ?

A)  Full stop

IG] Conjunction | .

B) Apostrophe
D) Hyphen

Chooga tha correct word for phonetic transcription.

183 : 1|
A) goal
C) glow

B) glum
D) girl

Frame question for the following sentence.

| go to the market twice a week.

A) How long do you go to the market ?
B) How much do you go to the market ?

C} How often do you go to the market ?

) How many do you go to the market ?
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Elﬂu@iﬁl ufist 30 afennd s o_shrera. gy alarTdasndih afenl_weliss Fauedrgih,

There are 30 questions in all in this Part. All questions are compulsory.

81. 1.1,2.3,5.8,13, 21... eretip Glgm e 5 (PES o pitiy
A) 29 B) 26 C) 3N

The nextlerm of the series 1,1, 2, 3,5, 8,13, 21...

A) 28 B) 26 c} 3 L) 34
82. 67067 o 1ot egenawd oL (D A F S0 7LD 7
[4) 14 B) 21 Cia/ PR D) 28
What should be added to 67067 10 make'll as a perfect square 2

B) 21 ey 7 D) 28

L@ & 6b o_siram FLo Lide (pd Banemniisellel @iomdett Ly

A) 12 Gar® B 3 @mf C) 14/ =# |D) 12./3 Gsf®

2 am

The lotal area of the equilateral triangles of the diagram is

A) 12cm? B) . 3cm? C) 14 acm? D) 12./3em?

B [ Turn over




94. 8518 fempih, 45 1F sysaupth Gansime sanmilsh eusiwenrh B1° 1 1 sufdg T 6.80 afsb

it Glorgs Cleaway
I#.]- T 33,660 I B) ¥33,600
C) T43,660 D) 27,660

The cost of painting a wall of length 85 m and breadth 45 m at the cost of
¥8.80 persq.m. is

|A: 2 33,660 B) T 33.800
C) % 43,660 D) 27,660

95. 50 whierauisefdr syred wi 06 sl 45erend Semd B G’ g, Serertdd sraniigy

seumgeors 13 staw sTRidad Clamaranciin’ L g, af beg erefle siflwmer ggrel

A) 44 B) 441 C) 444 D) 445

The mean marks of 50 students was found to be 45, later on it was found a score of 43
was misread as 73 then the carrect meanis A%

A) 44 B) 44.1 C) 44.4 D) 445

96. sgswaud 15, 2012 srstrusi whnilldayd B ypenio eraflsh wnid 15, 2012 eredrisgi

A)  Blrisssir |B) eflwmpen
C)  Cleusirer D) yger
January 15, 2012 was Sunday then March 15; 2012 was

A) Monday [B) Thurscay|
C) Friday D) Wednesday

97. oo smrEs e ppemaalll L Femb 5. o Gl erafldl siger Lds ey

5
|A} 5 Q8 B) 10 Qaif C) 5 @ss D) 10J2 Qs

If the length of the diagonal of a square is 5./2 cm then the length of the side s

IA} 5 cm B) 10cm C) :?5:?-:::11 D) 1042 cm




88. e s euerauhns i LisT sTeiT
A) 158 B) 187
C) 288 D) 173

The prime number of the following is
A) 1586 B) 187

C) 289 |D} 173

99. 4 (& 95 @b, 9 f woonb 16 15 65688 2 & ferbisamar FLTSE Derdsd Salpi

A& G L wr Famed
A) 35 Gs# B) 45Qsf
C) 55 Qmf D) B5 Gled

The greatest possible length which can be used to measure exactly the lengths 4 m
95cm, 9mand 16 mBScm

A} 35cm IE] ﬁ-ml

C) 55ecm D) B5cm
i

100. 1.75,5.6, 7 sy @uinueir 8. G ai.
A) 0.07 B) 0.7
C) 35 D) n.asl

H.C.F.of1.76,5.6, 7 is
A) 007 B) 0.7

0 35

101, 'S’ eréip srapd Reir xipd B Crmewnd

A) 90° B) 180°

C) 270° D) 360°

The angle of rotation of the letter 'S’

A} 80° IE} 180°

C) 27o° D) 360°

B [ Turn over




102.

103.

104

o

g sugLiigyerar 40 wremalrsalsr sgred srtenL. 42 .8, ydieugliy opFdwd
srami_ifenainyeh Fedgard srrel ] aEstaBpg ol yis oM Mudereen. 8.8,

A) 80 B) 75
¢) 83 D) 84

The average weight of 40 students in a class is 42 kg. If the class teacher's weight is

includad then the average is increased by 1 then the weight of the teacher is kg.
A) 8O B) 75

C) 83 D) 84

et sl 8% aulyy afsdBlal syaa vy S, SRS sy
LD BISTHLD. %

Al 15 B 25] M

C) 20 (i ﬁm‘g 17\

Tha principal triples at the rate of E%parﬁ%m Slin years.

N s

¢} 20 D) 10

b T W@M o

o]
A) 8 @ sl srswseai g Bl ei g @) el sTair LD
Bl Ean woop erevad el &eimdia i L1 que §5 (LOCLp STEUNT 3y, (LD

I Gl @os alf&sipmn srenrs silew s Gsel gpoh ol Sl%(L0 0 meTavr i, @0 I

D) @ &8 supn whmb sl ESenT stewmsallel [ Eel g h @bl BB 0 D0 a1 510

Which is the wrong statement ?
A} Sum of two natural numbers is a natural number

B) Preduct of two whole numbers is a whole number

C) Sum of two irrational numbars is an irrational number

D} Sum of a rational and an irrational numbers is an irrational number



105. 1% s et rsoth

3 2
F= e
A) y B) 3
1 1
2— -
C) 4 D) 14
The square root of the number 1%
3 2
) =
A) 13 B) 13
1 1
2— = b
C) 3 D) 1=4

106.  Gpsasiv quBmien sauprien 2Hm) 615 ?
A) 1@xf8 =1 hab
IC) 1uf=1004&0

Which of the fellowing s wrong 7
A) <1 em3= 1m!
|m 1m3 =100/

B) 1@ M= 1af
D) 1000 Q=P = 1a8

B) 1decim3=1/
D) 1000cm® = 1!

107. piBevda thaéffu stowenfier (paraflf@h, srar@awds Bs0QUMy sredmends

Glgm_ i o crer ol Ewrech
A} 100
C) 10000

B) 1000
D)y 1

The difference between the predecessor of the smallest five digit number and the

successor of the |argest four digit number is
Al 100
C) 10000

B) 1000

o 7]
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108. wiBiy sraws 1+[14+-1+[14+1+:(1+1+2)]]

5
Al P B) E
8
e 5 D) 2
Find the value of 1+[1+1+[1+12(1+1+2)]]
i 5
A) > B) a
8
C) 5 Dy 2
4 1.3
109. Ja=1.732 wafe e
A) 5.186 B 1732
C) 0.543 ! D) 0.732
-
It ".'IE =1.732 thﬂﬂ'ﬁ' - IEn:rrEl:t Answer: B.5T7
A) 5196 B) 1.732
C) 0.543 Dy 0.732

110, 07 : 15 o, aflpsib 09 @ 03 9. L. eflfi@h o dvar G G)ent Blavel
A) 20128 B) 11048 &
C) 131048 @ D) 14w48

The fime difference from 07 : 15a.m. 10 09: 03 p.m. is
Al 2hi1Zm B)] 1h48m
IG} i3h48m D) 14h48m




111, 7x5462 sreiip svevw® gyoir 1BF R sinef s (b srefish . siv anpFs o # By

A) B ’E}El

c) 9 D) 7

The least value of x for which 7x5462 is axactly divisible by 9 is

b e

C) 8 D) 7

112, 72+824562=

A) 612 B) 502

|E} 572 D) 832 >\ %
.

72+ 8% 4 56° = |

A} B12 ;%-.a'; 502

C) 572 D) 63°

113, senls Gumsssidasartise
A)  s@paaiaGyal
B) @awnmspigyi

C) dasrspen

ID) sasiv

The emperor of Mathematicians
A) Sakuntala Devi

B} Ramanujar

C) Pythagorus
|D} Gauss |

{ Tum over



115°

114,

X
130"

it B e X 63 en &l 1
A) 60°
C) 55°

B} 115°
D) 130°

115"

The value of x in the diagram
A) 60°
E) BS°

1 1
15, X+o=2aafe X #oms

A) 14 B) 3 g 2 D) 1
1 1

JfH+;=~EthenH2+K—E=

A 14 B) 3 c) 2 D) 1

116. esdsi T 12 afg 6 pifarseme, T 350 afsh 12 syresssesih arsidarmsir.
agenidarrii b 200 Qear@gsned BF aurnie Bavemng w Gl rena
A) 2114 B) 798

|I::1 286 D) %102

Sankar bought six apples at the rate of ¥ 12 and 12 oranges at the rate of T 3.50. Ha
gave ¥ 200 to the shopkeeper then the balance he has to get is

A) T114 B) 98

o) oz




117. 4B &ir sirpanhis afleir sTetmemnila ena
A) 12 B) 124

C) 48 D) 8

The number of factors of 48 is
Al 12 B) 124

118. g Slwd Cs o (pdGaromi Bl gos Baremmb55° eradfist whp Canemrih

A) 55° B) 100°
C) 35° D) 45°

In & right angled triangle If one angle is 55° then the other angle is
A) B8° B) 100°

[c) as° D) 45°

118, wpmeb5 woap sretnasafler autdsdisahel & G s

Al A |E]| 30

C) 65 D) 28

Sum of squares of first 5 whole numbers |s

c) 58 D) 28

120. gpmed 10 @ web srafwa ofisir oomed

C) § D) 65

The average of first 10 natural numbers s
A) 58 B) 48§
C) 6 D) 65

[Turn evar



uzs =V
PART -V

@ipdlene gyahlaklu e
EVS

@1 s Eluflsh 30 aflannd st o croran. syemendsl aflenndsensgin ale_welss Saissw (i,

There are 30 questions in ail in this Part. All questions are compulsory,

121. &S usrsT wieni_& Beddsan,
[A) Qungracan | B) @rer
C) Gurirdsmet D) evGludiey
Ibn Batuta belongs to country.
IA} M::-rnm:nl - B) Sudan
C) Portugal D) Spain

122. s dsnis sreug B (perarGy Bamand v ) eodseny Hrsd
A) gy weEISETILD B) mewamred

|'r:.]| Qs rens S with D) ' wrlGug s

The Tamil terature originated before the Third Sangam was

A) Thandiyalangaram B) Nannool

|C]n Thnlkappiaml D) Yapperunkalam

123. wmilusfiia sFseralley sremiufik amy

A) 184 Bgsi [B) enani mme |
C} yiane D) sysetispar

A gas found most in the sun is

A} Methane IE} Hy’drngﬂnl

C)} Organ D) Oxygen




124, GlgarGupe Lighasdsmpns Bened @ [3)enemrirs Senin el sirem wenaus s

A} apoeusvef] B) erdyan

C) aflgEwn D) enwdsmasur

The mountain which lie parallel to the direction of the Southwest Monsoon wind is

|A} Aravaril B) Satpura

C) Vindhya D)y Maikala range

125. Ggufevsy, smiun, @uiud, 1ferg whpih wop B BUnsimemas s0 LRIBITL 1961 SUrGT B LD

Ly,
A)  osura , B) @y
IC} G il | B). wpgitg
Tea, Cofiee, Rubber, Pepper and Casheware crops in Tamil Nadu.
A) Food ; B) Fibre

| C) Plantation | . D) Non-food

126. gy g7 sreirug) @@y Bemoth B8 mant gepeir wngih spdadmer swbgerar S
ailE ELh

A) 14.19% wopoyib31.81%
|B) 11.19% wppis88.81% |

C) 88.81% wpmib11,19%
D) 33.81% wppnnn11.19%

Pure water is a compound it contains hydrogen and oxygen at the mass ratio of
A) 11.18% and 31.81%
B) 11.19% and 88.81%
C) 88.81% and 11.19%
D) 33.B1% and 11.19%

|

B [ Turn over




0sUZ® grainn soQanQ miest o cirar Syt aradies of o sraimenfi e
B) 92
D) mal

127.

A} 330
C) 238

g2U=" In this isatope, the no. of neutrons is

A) 330 B) @2
C) 238 D) 146

128. 20° C Gwuiufeeuudtel § sk CuSO, —sir samu @ peir
A) 38 Bgmb B) 20.80&gmb
C) 20.7 El;m.-.bl D) 70.2 ®ymib

Solubllity of CuSO, InH,0at20°C is N e\
B) 20,80 grams

A) 36 grams ‘
s ke
C) 20.7grams D). 70.2 grame

128. gOenafen sgmufep 18, graudengy Fonpd8 wafls o e oigpiecf e

A) 3 B
o D) g @Hidenw

C) 1
Find the atomicity of ozone If Its atomic mass is 16 and Its molecular mass is 48.

"

c) 1 D) None
130, OwdQanil b B Farsd Bd@b Qo mewmd @ e Do Bl ibasren Ggr iy
Al Verg B) Varm
C) raVw DY m=Vo
Felation between linear velocity and angular velocity I8
A) Vsrg IB) V=ro|
C) r=Vum D) w=Vo

8]



131.  ufufie Hlenau rang s [@sbena,

A} smand B] e
Q) seuseh ID} GuGamp I
The of the earth is not stable.
A) Core Bl NiFe
C) Mantle D) Crust|

132. SEPHTLLg o8 SreUlensy ————— queTeren LI ST s
A)  sywew enesim surh B) wieGauliu weim_such
Cl sauiugy D) ayiund@H
Tamil Nadu has climate.
A} Tropical | B) Temperate
C) Polar D) Asetic

133, @p@w galusit oppith @iy wo P e Seneuet

Al suTETRIST B) @i wis gienewrs semewai

|C} ST ﬁmwwﬁl D) ads gEwstym §HULE

The head of the Indian Republic and Union is

A) Speaker B) Vice President
IC}I President D) Supreme Court Judge
134.  flav syarey sjigLiran st @EBw o e s — Gluflw mre_asg Bap8ns.
A) @ meus B) mbsraus
C) anpmraugy I D) el maugy
India is the largest country in the world.
A) Second B} Fifth
C) Seventh I D) Eighth
B [ Turn over




135. a@isl F geneoa s syall&sl UL Harm Esaug)

I.ﬂ} &miTem syenindai I B) @Eenemr syeniodat

C) wrFew sysniodsd D) senwdsrenal senwEFT

The opposition party leaders will be given the status of a
A) Cabinet Minister B) Deputy Minister
C) Minister of State D) Council of Ministers

136. @EFpwreds B0 L Sprdens arl b sygdsgsnnb snauds o Heirer Gl tb
A) (oL B) Gleshsnan
|{:} L;ﬁﬂibi‘ﬁ?l D) Garasgsr

In Indla the time standard is provided by Atomic clock keptat

A) Mumbai B) . Chennai

|::} New Delhil D) Kolkatta

137, oy #ngn suhpet gpevd Do s § S1GdsFa1C @
A s appe | B) #iaubped
[0 _siuass]” D) =GB

Non-conventional sources of energies’ one example is

A} Wind energy B) Hydro power

IE} Solar anergyl D) Bio-mass
138, Qapeard Qusblarrs sraruant Ip E s o e F

A) 1852 B) 1745

c) 1791 D) 1956

Henrl Bacquerel was born in the year

A) 1852 B) 1745
C) 1791 D) 1956

B
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138, Cuwsp Bleb syag ueu peiren b Leirgy b ofl(Lpaus sir snresrid
A)  Glus ppsman @udadled EiiLigmed
I B) R ppenargiialiish @mlosmad Il

C) ppmenth gualle @) miiusms

D) oy meaw_sueh guirails) @ O0s e

A man who is sleeping in the bus sways his head to and fro because

A) the cerebrum is at rest

B) thecerebellum is at rest
C) the medulla is at rest

D) the nervous system takes rast

140. peiredft o e ilewr mxﬂ@g&-ﬂaﬁtﬂuﬁi B wrda L'Fu@.&,-u.'rﬂq;; g & aflet (B 750
2 enpgena s Oy GIRNE, S sasuL_oubmenes?
A)  @aurenawar B)  =yipenamar C) smgullen ID]- i (migen I

This is a naturally occurring pmﬁinfﬁl‘qseri:t in the salivary glands of Leaches that has
a blood anti-coagulant property

A}  Guanine \ B} “Adenine C) Thymine |D} chrudinl

141, @iSunafler @by waligd aren spenpdation’ el
A)  (Rekiomid

B) #iamieusbeviim LG st

C) anarslmew smui &mar

D) sasmumd GmearBrmal

was called the 'lron Man of India’,

A) Bismark

| B) Sardar Valabhabai Patel |
C) Khan Abdul Gafar Khan
D) Dadhabal Naoraji

B | Turn over




142, Fawd wwient wyaumes Seumm eliip S Liwest Bire

A} amiap &b
[C) Auwsa

B) @ewmgsn
D) ogsewrsuet

The Travel Book written by the Chinese Traveller Hieun-Tsang was

A) Harsha Charitha
C) Si-Yu-Ki

143. pafer @ sEwralear afly Gararal

A)  swrenha FTatei

| G) Eomegr pmd Geo e g |

The Herald of New Age in Indla was

A) Dayananda Saraswatl
C) Rajaram Mohan Rai

144, @pFw @oUyl urmsuiar sEems
A)  aflcbediuh Gluismps

C) QeuchGevaialiigt)

The Father ni Inﬁian Railways is
A)  William Bentinck
C) Lord Wellesly

145, Ca@wiy Lo s
A)  Limen smsns T Blevst

C)  aafG@ mmd &mei

The National Song 'Vande Matharam' was writlen by

A) Bala Gangadhara Thilagar
C) Rabindranath Tagore

B) Indica
D) Rathnavali

B) .sysiras Gl reresim .
D) Wﬂﬂ:’fﬁlﬂﬂ..ﬁlﬁﬁ.l

_ Bl Aﬂﬂﬁs ant

% A
. D) Syed Ahamed Khan

B) areen Ny
D) L e@apwd Fiy

B) Lord Curzon

|D} Lord Dalhousie I

aufh B wrsmdens ' @ whoiwed

[B) wsssiBr e g I
D) Csleaud®r mng smed

) Bankim Chandra Chatterjee

D) Devendranath Tagodre



146. EBypanmh LyenEltLgTel augsLh Benioseser stanay /T w v &) enewr [Jlebsne
o

1) Gsww - 2 iaGaraw BealGgrFlev

2) menguigsd - LFga 1 spuuilel LIESH & DA o e T SEe
3) e ihejseir - ey CunGLaGonPeau

4) Gedgse Glemmiiy - &THnIF Anpenn&ar LTEEs L FEe

IA} E}r_F.-.d‘jr_':.I B) 1) 3)w

C) 1)wd) b : D) 1) w2) b

Among the following disadvantages of smoking which are not correctly matched ?

1) Heart - Orthosclerosis

2) Lungs - Bile stones in bile gladder
3) Bones = Ostecporosis 7

4) Digestive System -  Damage -:Lalmm_f' y

B 2)and4)| B 1) and3)
C) 1)and4d) P D) 1)and2)

147. G nigs smnbdrameir: wgpin/h gl Gearesfimuy urlid o ulf, Bhésehn b o
eI ?
A)  sparmsfsllon Glans
E) mﬁﬁ Glairran
C) ali@=

0) Syysvsan Glsmes

Among the following, which is the carrier of the microorganism which causes dengue
fever 7

A)  Anopheles mosquito

B) Aedes mosguito

C) Housefly
D) Culex mosquito

B [ Turnover




148.

SiFEmiFsUu L Bperisar sebag sflejib Heavfer aflefi s 2 drar aflev g ser
upiu L Eleaysenens Clarem Lssswh Blamingl sjenlpistiLBEpg

A)  Beuilyd ysrelelauge LSS

B) aileusimsealicr e raommny
C) Fpdeamiseficr GammpLh

D) Cupaem aupoyer sigiayn Fens

The source book which keeps a record of all the endangered animals and plants is

|A} Red Data Book |

B) History of Animals
C) The Evolution of Species
D) HNone of the above

149,  8(passm_ouppisn 13y LgOBds e 2,5 ps ppaub@Eeena 9

A) s B) @upens sy
C) mm;@armml D) Padad
Which of the following is not'a non-renewable resource ?

A) Diesel B) Natural Gas
C) Eﬂw_ﬂungl D) Ceal

150,  prein Senpsenr Glsmeir . @) swih & pdssm_aibp e sTaHié s eem ?

IA] LUTEATL_ Y6, LD UL IewT

B) sasuew, LpLiLien
C) grhfew cumppeuar, LipLiLien

D) wmgurlig e, sariais

Of the following which group has four-chambered heart 7
|A} Mammals, Aves I

B) Reptiles, Aves

C) Amphibians, Aves

D) Mammais, Reptiles




91.

92.

93.

94.

95.

96.

SOLUTION TO TNTET PAPER| Booklet series C

senllg Cuenaseflar esraisd) sar gempssiulLe] Sre
CHOICE D

72 +82 + 562 = 49+ 64+ 3136=3249

9 60 (PlpWld (PETEHSSSETT aTES eLpauld 7 Ijsbeug 3 sdlgwd STiLLL elsmLserflsd
&flumeorg) 572

CHOICE : C

7x5462 eevTm eTem 9 9y UGUGILD eTeufled x o7 s &S gl

JImaTSg Qedsngeflar s (hEea Jar LWL RIGTS gmuge el (B

6160TG6u 24+X = vt wLmSTEW 27 steorCou X = 3

choice B

_______________________________________________________________________________ A
UL &dled 115

Z/ABE +/A =180 ( Pair of linear angle ) BL =

ZABE = 180 — 130 = 50 -

ZCBE + £C=180° A

/CBE =180 -115=65

&g L L Z/ABE + CBE = 50+65
x =115

CHOICE B

2
G +i =(x+1j —2=
X2 X
—(2?-2=4-2=2

CHOICE : C

6 g UlsTsefleot ailsme = 12 x6 =72
12 oyrehs upriseflar efleme = 3.50x12==42
Qurssailme = 114
SH&@asmems = 200 -114 = 86
CHOICE C




97. A48 e snyeuilser - 2, 3, 4, 6, 8, 12,16,24
Qrsg ereutrenfl&Hma 8
CHOICE D

98. eyeim Camewmmisaflar s. O = 180°
90°+ 55°+ x= 180°
X =180° - 145° = 35°
CHOICE : C

99. (s 5 W et artlerT sufSamigertleur
& (&6 02412422432+ 42=0+1+4+9+16=30
CHOICE : B
nin+1) _10x11_
g 2
67600t Seiflett &n (Hgsd _ 55 _
6TeunT 6Nl 60 10

100. (a6 10 @uwebd sTevvrsetlenT &n(hGHed =

Y36 10 Quedetemsafler armafl =

CHOICE : A

101. S6eUMTET & M)
100 15°= 100 &9
CHOICE C

102. sndlevss assSm eremr 10000 et (pevtenfl — 9999(mrautdlevdas GLiflw stevr)
EraTdlods Guflw sauwr(9999) et GamLfl _ 10000( mndleds Snlwereo)
allgdlwure =10000 -9999 = 1
CHOICE D

103.
1++1+[1+1+ A+1+ 2)]]=1+{1+1+[1+1+[1+%J]}

=1+ _1+1+[1+1+[§J]} =1+{1+1+[1+[§M

=1+ l+l+§}:l+{l+§}:§
3 5 8

CHOICE : B




104.

105.

106.

107.

108.

109.

J3=1732

1_ 3 173
V3 (V3)(W3) 3

Qar@ssiu’L aflmLsar 9marsgild Semnds 2 6 erg)

=0.5773

Qar@ssiu’L Crrgsms @ruiloGa Grromrs wrnmmnis
@.u 7.15 — 07.15 wewf]
dlu 9.03 -- 21. 03
Crr eflddursnd = 20.63 -7.15 = 13.48 = 13 wewfl 48 ELblLLb
CHOICE :C
speureuifl 15, 20128l Lrifé 15, 2012 &L @emLlulL Brisei= 60
Sy — 2012 oSt oyemi® ereorGeu Llliraufl 29 Bl saf
60 & 7 91,60 UG W 4 B ser
gliisar . Qeaieuml , Uger , ellwumper aearGe praisraug mrar alumpsiCHOICE :

FgIrsdlet epemeall b d ereufled FHewr LSS eTey a=——

5V2 =5@&Lf

eTer@ou g ="V
2

CHOICE A
Lleut (LT euMmIeT LIS 6TemT 173
CHOICE D
4.95 16, 9 1f, mmid 16 .65 f gy Sweumdlest L8.GLT.ou SewrsEl gsioeataflamu
pE&dl Qe wdliurs LrHnIs
495cm, 900cm, 1665cm
smyeue§] (pemmulled
495 = 5x3x3x11
900 = 5x5x3x3x2x2
1665 = 5x3x3x37
Qurgsamrenflser = 5x3x3 = 45cm
CHOICE : B




110. 1.75,5.6, 7 gy dweundler 15.QuT.eu sl sawliysraflomw ps
175, 560, 700 sTeur LOTMDIS
smyeue§] (pemmulled
175 = 5x5x7
560 =5x2Xx2x2Xx2X7
700 =7x5x5x2x2
QurgissmyenflEer = 5x7 =35.
175, 560,700 gy lweumlet L8.@um.eu 35 ererGeu
1.75, 5.6 , 7 gy Sweunlesr 1f.Gum.eu = 0.35
CHOICE : D

111. S aeip erSdler syndl aufleme 2 srerGeu argg,r_f].sﬂa's(Basrrsmmbgg—o:180o

CHOICE : B

112. 40 wrewreufs&eflet sten = 40 x #gwafl etem = 40 x42 = 1680 kg
S FflwmLaT Qurss aemL. = 41 x (42+1) = 41x43=1763kg
o, Eflwiflet stemL = 1763-1680=83 kg
CHOICE : C

113. seaflauliguiled @ GOHNILL GsTmen WLEISTS @G STeL nr_1x100

6TeTGau ePGITDI LILEISTE QY (@GLD STeuLd 3glxlOOzzgoz 25 gy, 6uoT (D) ST

CHOICE : B

114. S6uMTET SnMm)
@\ eldlsynr aemisaflar & O e aldlgswymor e o @WCHOICE : C

115. 12 & uirde ge == | 22 =2
16 16 4
CHOICE : D
116. 1,1,2,3,5,8,13,21
@g JiGarrdl suflms aarGou HSS oTemwT HSNES WHMSW G
2 i sefled s @0 =13 +21 = 34
CHOICE : D




117. 67067 2 L6 6TSH6MEITE:En LL (L) eITESLOMGLD 258

258a S|BSHS w259 ai (pgeuiésih = 67081 o 67067
&L L GeueuuTigww eemer 67081- 67067=14 4
CHOICE :A 45 T
--------------------------------------------------------------------------------- 225
118. uLgdled 2 aier LSS (pSCaTamTEISafleT LT 508 ‘4567
f 2_15¥3 (2 _ 30684
12 suuss WscasTamrmsar = 12~ —a<=12"— (2) =123 503

CHOICE : D
119. seupdlet urliy = Eard x gsevLd = 858 x 45 Lf = 3825 1f®

sUGTTGITLD S g Gl Gsove) = LTy X @b SEITULL GSsTar QsTms

= 3825x8.80 = Rs. 33,660

CHOICE : A

120. eflurar & HiFH = SuMTET Fo(HH60 - SHEUMTET 6T6UT+ SFILITET 6T6voT
= 50x45 - 73 +43
= 2250 -30 =2240

Fflwmrer syrafl = S & G5 _ _2220 —44.4

6T600T 600TI & 60 50

CHOICE C







